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EFH Iy ar RECHTIHEER) 0 0 0/ 0.0% 0 0 00% 0 00%
& (A—2) —HEGHTHREE) 4 4 2 2 2 2 6 4 4/ 100.0% 6 4 66.7% 4 66.7%
HIE (B MEENER) 19 19 19 19 19 19 19/ 100.0% 19 19/ 100.0% 19/ 100.0%
$HiE GEERHMEENER) 0 0 0/ 0.0% 0 0 00% 0 00%
& (NI RBEEE) 0 0 0/ 0.0% 0 0 00% 0 00%
B (T RERE V) 6 6 6 6 6 6 6| 100.0% 6 6/ 100.0% 6/ 100.0%
BT (@R E %) 8 5 8 5 3 2 11 1 7| 63.6% 8 8/ 100.0% 7| 63.6%
BN T (H i ) e 8 4 5) 2 2 2 2 2 2 2| 100.0% 2 2/ 100.0% 2/ 100.0%
BT (754 RBE) 22 8 19 6 9 8 2 2 33 31 16| 51.6% 24 21| 87.5% 16| 48.5%
BT (Ro=0 7o 21E%) 0 0 0/ 0.0% 0 0 00% 0 00%
EBRILAMI(ERBILRER) 54 49 52 48 4 4 1 1 59 58 53| 91.4% 55 53| 96.4% 53 89.8%
BT (HEMKTER) 6 4 5 4 1 1 7 7 5/ 71.4% 6 5/ 83.3% 5 71.4%
BERE (RNEREER) 4 4 4 4 4 4 4/ 100.0% 4 4/ 100.0% 4/ 100.0%
BERE (FIMREES) 3 3 3 3 3 3 3/ 100.0% 3 3/ 100.0% 3/ 100.0%
TiHRE BHREEE) 4 4 4 4 4 4 4/ 100.0% 4 4/ 100.0% 4/ 100.0%
HoEF(BRHOEHER) 8 7 8 7 1 1 9 9 8| 88.9% 8 8/ 100.0% 8 88.9%
HoE(EME RO OEER) 5 5 5 5 5 5 5/ 100.0% 5 5/ 100.0% 5/ 100.0%
FINE=7 LHEEALILE (BIEEAL LR %) 0 0 0 00% 0 0/ 00% 0/ 00%
EFCETEGEFHESE) 0 0 0/ 0.0% 0 0 00% 0 00%
B (&R EIFESR) 0 0 0/ 0.0% 0 0 00% 0 00%
B ARSI B PR 19 18 19 18 1 0 20 20 18] 90.0% 19 19/ 100.0% 18| 90.0%
BIRE (IREFE) 13 11 13 1 2 2 15 15 13 86.7% 13 13/ 100.0% 13| 86.7%
FANRLCRIMF v \E A HAMEE) 0 0 0/ 00% 0 0 0.0% 0 0.0%
FANAR Q=R F XU READAMEE) 4 4 4 4 4 4 4/100.0% 4 4/100.0% 4/100.0%
EFHBMET C(EFHISMITHESE)| 106 104 103 101 2 2 3 3 111 108/ 106 98.1% 109 106 97.2% 106/ 95.5%
EXMBREL T(EEBERMAILTHER) 0 0 0/ 0.0% 0 0 00% 0 00%
BRI T(EERMBILTHER) 0 0 0/ 0.0% 0 0 00% 0 00%
BRWSET T (RERE- FIEBET TR 40 38 371 37 40/ 40/ 38| 950% 40| 37 925% 37 925%
BT T R ESEET THE) 3 3 3 3 3 3 3/ 100.0% 3 3/ 100.0% 3/ 100.0%
BERMBMAYL T(DEEHRBRUEEZE) 0 0 0/ 00% 0 0 0.0% 0 0.0%
TYUNRBIRAE (T NRAREEHESE) 0 0 0/ 00% 0 0 0.0% 0 0.0%
TYUNRBIRAE (T MRS %) 2 2 2 2 2 2 2/ 100.0% 2 2/ 100.0% 2/ 100.0%
ARESD T (AAZES =3} 0 0 0 00% 0 0/ 00% 0/ 00%
RECRIZRER) 0 0 0/ 0.0% 0 0 00% 0 00%
B (M- =y NRRER) 0 0 0/ 0.0% 0 0 00% 0 00%
=y R ELE GLRA = v LS ) 0 0 0/ 0.0% 0 0 00% 0 00%
Zuh A ELE (M T REER) 0 0 0/ 0.0% 0 0 00% 0 00%
AT HARWE R ATFHREEWERNES | 122 107 121 106 16 15 1 1 139| 138 122| 884% 123 122 99.2%  122| 87.8%
o AR S (Pt BE SRR SLE AR %) 0 0 0/ 0.0% 0 0 00% 0 00%
EENF(EREEAER) 4 4 4 4 4 4 4/ 100.0% 4 4/ 100.0% 4/ 100.0%
R 5 B (LA M BLE AR %) 3 3 3 3 3 3 3/ 100.0% 3 3/ 100.0% 3/ 100.0%
MIEHER (T BIEEE) 6 6 6 6 6 6 6| 100.0% 6 6/ 100.0% 6/ 100.0%
REME(REFMIAER) 3 3 3 3 3 3 3/ 100.0% 3 3/ 100.0% 3/ 100.0%
EERE(RMBEFMIAR) 6 5 2 1 1 1 4 4 11 7 6 85.7% 10 6 60.0% 6 54.5%
38 BUR— L RELE (EDRIFEITIRE (R %) 0 0 0| 00% 0 0 0.0% 0 0.0%
#ER - R — LR BLE (FIRIFE AR F ) 0 0 0/ 0.0% 0 0 00% 0 00%
#EAR- BOR— L RGE (AR BUEER) 0 0 0/ 0.0% 0 0 00% 0 00%
35 BR—)L AR RS (BR— LB RS 2 2 2 2 2 2 2/ 100.0% 2 2/ 100.0% 2/ 100.0%
ENRI (A 2ty MENRIES) 5 4 5 4 1 1 6 6 5/ 83.3% 5 5/ 100.0% 5 83.3%
BAR (WAEE) 0 0 0| 0.0% 0 0 00% 0 00%
TIRF VIR (EHERIAEE) 0 0 0/ 0.0% 0 0 00% 0 00%
TIRF VIR (SHHBRAEE) 64 62 56 56 3 3 7 7 74 67 65 97.0% 7 63 88.7% 66 89.2%
TIRFVIRM (A2 TL—2av BAER) 6 3 6 3 3 2 9 9 5 55.6% 6 6 100.0% 5 556%
TIRF VIR (TO—RRAER) 0 0 0 00% 0 0/ 00% 0/ 00%
BIETSRF VIR (FRAMBRIBEE) 3 3 2 2 1 1 4 3 3/ 100.0% 4 3 75.0% 3 75.0%
AMEL (AHMMIER) 0 0 0/ 0.0% 0 0 00% 0 00%
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AMET (BRYVER) 0 0 0/ 0.0% 0 0 00% 0 00%
ISV BE (XU BEEE) 23 21 23 21 2 2 25 25 23| 92.0% 23 23| 100.0% 23| 92.0%
Nyt A (N Ay — =5 R B 14 14 14 14 14/ 14 14]100.0% 14/ 14/ 1000%  14] 100.0%
KEBYRR WS (MEEWREEE) 0 0 0/ 00% 0 0 0.0% 0 0.0%
BEXT(KIIHEHAE) 35 35 26 26 10 7 45 35 35| 100.0% 45 33| 73.3% 33| 73.3%
MOLAE (DL SEERE) 0 0 0/ 0.0% 0 0 00% 0 00%
EU(EVER) Al 44 68 44 23 15 94 94 59| 62.8% 7 68 95.8% 59| 62.8%
EB(EEAFH) 16 13 14 11 3 2 1 1 20 19 15/ 78.9% 17 15 88.2% 14| 70.0%
IR (EIFEE) 0 0 0/ 0.0% 0 0 00% 0 00%
BAIIRY (B ILERYIEE) 0 0 0/ 0.0% 0 0 00% 0 00%
BT REREFE) 7 5 7 5 1 1 8 8 6 75.0% 7 7/100.0% 6 75.0%
BRE (TS5 MEEER) 0 0 0/ 0.0% 0 0 00% 0 00%
BRET (RRIRER 49 42 44 42 5 4 3 3 57 54 46| 85.2% 52 47 90.4% 49| 86.0%
HHET (SFHMAMLTESE) 62 39 61 39 18 16 80 80 55 68.8% 62 61 98.4% 55 68.8%
AU~ ERIET (A5 —NEETHAEE) 4 4 4 4 4 4 4/100.0% 4 4/100.0% 4/100.0%
FARIET (S —U T TR THEER) 5 5 5 5 5 5 5/ 100.0% 5 5/ 100.0% 5/ 100.0%
Pt EFBT (F5RF v REAE EFTHER) 0 0 0 00% 0 0 0.0% 0/ 00%
R LT (h— BB £ THER) 0 0 0 00% 0 0 0.0% 0/ 00%
RELEFHET AR T TRER) 0 0 0/ 0.0% 0 0 00% 0 00%
R E BT GR—R LI TEEZ) 9 9 9 9 9 9 9/ 100.0% 9 9/ 100.0% 9/ 100.0%
WL EIFET (h—To THEE) 0 0 0/ 0.0% 0 0 00% 0 00%
BERIET (RERATHENAER) 2 2 2 2 2 2 2| 100.0% 2 2/100.0% 2/ 100.0%
POV (ELAY YIRS 2 2 2 2 2 2 2| 100.0% 2 2/100.0% 2/100.0%
YIURAUMET (YT RA P THHR) 0 0 0/ 00% 0 0 0.0% 0 0.0%
R (BEEAER) 0 0 0/ 0.0% 0 0 00% 0 00%
BEREREAER) 7 6 7 6 1 1 8 8 7| 87.5% 7 7/100.0% 7 87.5%
B (ERBEAER) 30 22 29 22 6 6 36 36 28| 77.8% 30 29 96.7% 28| 77.8%
B EEEAER 0 0 0/ 0.0% 0 0 00% 0 00%
BE(EBEEER) 8 8 8 8 8 8 8| 100.0% 8 8/ 100.0% 8/ 100.0%
IRAE(IXAEER 21 16 21 16 2 2 2 2 25 23 18] 78.3% 23 23/ 100.0% 20| 80.0%
&t 921 789 872 757 0 0 108/ 91 37 34 1066 1029  880| 855% 958/ 906| 94.6% 882 82.7%

2/2




